

09, William Carey Road, Serampore, Hooghly, West Bengal, 712201

Faculty of Arts-Science-Commerce

NOTICE INVITING TENDER

Tender No.: SC-ASC/2023-24/21

Date: 11th August, 2023

Sealed quotations are invited mentioning for the following job(s)/materials for Roof Water Proofing Treatment of Chemistry Department. The quotations are to be dropped into the assigned box in Bursar's Office on or before 18th August, 2023, 12:00 noon the quotations are to be opened at 1:00 P.M. in the Principal's Office on the 18th August, 2023 (depends on the availability of the competent authorities). Interested legitimate parties are welcome to attend. All quotations should include taxes as applicable. Submission of photocopies of License, PAN Card and GST Certificate (if not a registered/enlisted vendor) of taxable entity is mandatory on the time of submission of quotations and bills. GST registered vendors will get preference in the selection process. This notice is also published on our website i.e., https://seramporecollege.ac.in.

N.B.: Concerned authority reserves the right to judge the merit of the quotations and decide accordingly for issuing the work order or rejecting the same.

Description of Work(s)/Product(s): -

Tender to obtain a "Percentage Rate Tender", for the under mentioned work, from bonafide, reliable, resourceful and experienced companies/Firms/Contractors.

Followed PWD(WB) Schedule of Rates, with effect from 1st November 2017 & Rd. Schedule 30th August 2018 & all Corrigenda.

SI No	Name of Work	T.Q.	Unit	Amount	Total Amount
1	P-278 / SL 10(C), (BLDG. VOI-I-2017)				
	Uprooting and removing plants from the surface of walls parapet etc and making good damages. (Repairing of damages to be paid separately).				
	(c) Large plant of girth of exposed stem above 150 mm. but not				
	exceeding 225 mm. lift upto 6 mtr.	5.000	Each	187.00	935.000
2	P-10 / SL 3(b), (BLDG. VOI-I-2017)				
	Dismantling R.C. floor, roof, beams etc. including cutting rods and removing rubbish as directed within a lead of 75 m. including stacking of steel bars.			1	
	b) Extra rate for each addl floor over the rate of ground floor (2nd				
	Floor)	2.767	CuM	2056.00	5688.950



3	P-45 / SL 5, (BLDG. VOI-I-2017)						
1	Cleaning the concrete surface by removing dirt and debris, marking						
	defective locations and removing loose concrete by careful stripping						
	until hard surface is exposed, cutting the concrete to regular shape,						
	wire brushing the exposed surface and removing debris from site	52.695	SqM	90.00	4742.550		
	complete as per direction of the Engineer - in - Charge.	52.095	SqM	90.00	4742.330		
4	P-12 / SL 13, (BLDG. VOI-I-2017)						
	Removal of rubbish, earth etc. from the working site and disposal of				•		
	the same beyond the compound, in conformity with the Municipal / Corporation Rules for such disposal, loading into truck and cleaning				7.3		
	the site in all respect as per direction of Engineer in charge	2.766	CuM	166.00	459.160		
5	P-47 / SL 3, (BLDG. VOI-I-2017)	20,00	Cuivi	100.00			
3	F-4// SL 3, (BLDG: VOI-1-201/)						
	Supplying and laying Polythene Sheet (150gm / sq.m.) over damp						
	proof course or below flooring or roof terracing or in foundation or in	50 (0.5	G 14	24.00	1264 600		
	foundation trenches.	52.695	SqM	24.00	1264.680		
6	P-47 / SL 4, (BLDG. VOI-I-2017)				•		
	40 mm. thick damp proof course with cement concrete (1:1.5:3) (with						
	graded stone chips 20 mm nominal size) with water proofing						
	compound of approved brand @ 0.2% weight of cement including cost						
	of materials over two coats of non toxic acrylic polymer modified cementitious waterproofing slurry coat complete [cost of water						
	proofing compound and non toxic paint to be paid separately) for						
1	underground water retaining structures.	52.695	SqM	282.00	14859.990		
7	P-45 / SL 8(b), (BLDG. VOI-I-2017)		1				
	(b) Applying 2 coats of Non-Toxic Acrylic Polymer modified Paint						
	having adhesive & waterproofing properties by mixing in proportion (1)						
	liquid: 4 cementitious material) or as per manufacturer's specification						
	for water proofing layer in water tank etc.	52.695	SqM	257.00	13542.620		
8	P-45 / SL 315, (BLDG. VOI-I-2017)						
	Extra rate for using water proofing and plasticising admixture @ 0.2%						
	by weight of cement (or at manufacturer's specified rate) for concrete of						
	various grades.						
	Dr. Fixit 302 SBR Super Latex or Sika Latex or Fosroc Nitobond SBR						
	Latex or Ultratech Seal &						
	Dry etc. (As Per Market Rate) (Payment should be made on area of finished work)	5.000	KG	420.00	2100.000		
	minimum work)			Total	43,592.95		
GST Applicable 18%							
Grand Total							
Rupees Fifty-One Thousand Four Hundred							
	1% Labour Welfare cess will be deducted from Quoted amount						
	The NAME of the state of the st						

The N.I.T. of this work (Tender No.:SC-ASC/2023-24/20, dated 01st August, 2023) was cancelled due to lack of submission of sufficient number of quotations. This is a retender of the submission of sufficient number of quotations.

Hooghly W. Bengal

N.B.:

- 1. It is mandatory to mention the <u>business's name</u> on the envelope along with the <u>tender number</u> at the time of submission of quotations.
- 2. Only those with License (Specific) in relevant field are eligible to participate in the tendering process.
- 3. Total amount for the work should be quoted.
- 4. Vendors can survey the work (if required) before submission of quotations. They may contact Mr. Shouvick Sarkar (Mobile No.: 9163638654), Campus Supervisor, Serampore College in this regard.

Dr. Saradia Ray Secretary

Secretary
Arts-Science-Commerce Det.
SERAMPORE COLLEGE
Hooghly, W.Bengal

Dr. Vansanglura Principal & CEO

Principal & CEO Serampore College Serampore, Hooghly West Bengal - 712201



Serampore College

09, William Carey Road, Serampore, Hooghly, West Bengal, 712201

Faculty of Arts-Science-Commerce

TERMS & CONDITIONS:

1. The rate should be quoted both in figure and words. The rate should be inclusive of all taxes and incidental charges. Only one quotation paper will be accepted from each contractor.

2. Before dropping, those intending to submit quotations are requested to inspect the site. No extra charges will be entertained after accepting the quotation. No conditional quotation will be entertained.

3. The payment will be made after successful completion of work subject to availability of fund.

4. Acceptance of lowest quotation is not obligatory and the undersigned reserves the right to accept/reject any or

all the quotation/s received at his discretion without assigning any reason whatsoever at any stage.

5. The successful contractor must complete the work within 30 days unless otherwise mentioned. No extension of time will be allowed except in special case. If any contractor fails to complete the work within the stipulated time, the work order issued in his favour will be cancelled without assigning any reason thereof. The undersigned may also proceed to get the balance work completed by any other means including through other contractors. The excess expenditure, if any, due to such a step would be recoverable from the unpaid bills, security deposit of the contractors/vendors. This is apart from any other protective measure. The undersigned may take including black listing of the contractors and forfeiture of earnest money.

6. All works will have to be done according to the specification, design and details approved by the Building Committee concerned and as per directions of the Principal, Serampore College.

7. The successful contractor/vendor will have to abide by the provisions of the West Bengal Contract Labour (Regulation & Abolition), Rules, 1972 as will be in force from time to time.

8. The contractor/vendor who does not fulfil any or all of the above noted conditions and submit incomplete quotation, the same will be summarily rejected. The quotation notice will form a part of agreement.

9. All terms and conditions will be followed by PWD rules and norms. Any other information of such relevant matter not included in the notice may be gathered from the office of the undersign in any working days during office hours prior to date of opening of this quotation.

10. Those who have GST Registration will have to submit GST inclusive Quotations and GST Bills (Regular GST or Composite GST as applicable). The taxes and government duties as applicable will be deducted from the bill of the contractor.

11. Quotations will be accepted sent by Post only duly received by the College Administration.

12. Materials: All materials required for the works, if supplied by the contractor should be of the best quality & ISI Marked then approved by college authority.

13. Labour, tools, plants etc.: The contractor shall supply all tools, plants and labour required for carrying out the Work.

14. No damage should be caused to any other college property while the work is done. If any damage is caused, then you will be liable to restore it to its original shape.

Dr. Saradia Ray Secretary

Secretary
Secretary
Arts-Science-Commerce Det.
SERAMPORE COLLEGE
Hooghly, W.Bengal

Hooghly & W. Bengal India

Dr. Vansanglura Principal & CEO

Principal & CEO Serampore College Serampore, Hooghly West Bengal - 712201

Page 4 of 4